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To: EG=0, 0G=0
T4: E=1, EG=1, 0G=0
Ty E=1 -
Hoch Stopp / Runter
Ty: E=0 To: E=1
Te:E=0, EG=0, GG=1"

T,4: E=0, EG=1, 0G=0
T5: E=1 y EG:O, 0G=1
T7: T=1




Oolo|o|o|Tv|o|o|~|T|T|T| O
d]loc|o|o|o|~|~|o|T|T|T|T
3
[}
€ f|lo|o|T|T|Oo|o|T|T|T|O|O
E
clo|o|o|T|~|~|T|T|T|OT| O
dlo|o|o|o|~|~|O|T|T|T|T
go
S gleje|ele| |~ |—|o|~|—|°
(=)}
@
M&.01101110000
1 89
&€ Ble| |~ |o|o|o|o|lo|—|~|O
o ©
R
L3 d|]o|o|lojo|~|~|~|Oo|~|—|O
.m%00110000011
(v}
i
N O]9 o|lo|lo|o|o|~|~|O|+ |+
S
=2
o> ||| |T| DD |O|~|T|T| T
S
Ngx
L
.ml%OOddO1dd1dd
)
=
£ 8
_.nran_.w01dd10dd0dd
1
3
S 3
Oc WD~ |~ |00 |~ D T OO
[
TR
c
o
= o
.$T01234567891
2 BB B EEBEBEEBEBEEE R
g
-




